Math 132 (Sem 101) Final Exam Page 1 of 13 MASTER

522 + 14z — 3
x3 + 3x2

1.  The limit xl_i»rr_13

1

s — —

(a) equals 9
(b) equals 0

(c) tendsto — o0
(d) equals —g

(e) does not exist

1
9. If f(z) = In(z® + 1)g(z) and g(0) = 1’ then f”(0) is equal
to

(@) 3

(b) O

()

|

(d) 1

()

N W
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3x — 2

3. For Yy = m , y,‘.’t}=0 =

(8) o

() —4

(d) 2

4. The deriative of f(z) =€V 4’z ot 3 = e is

o
)
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(a)

('0§| §I

(b)
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o

(d)
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5. Ifcos(zx—y) = y?sinx, then the value of 3’ at = =
is

=Y

pol

(a) O
(b)

|
()

—
o
~

w Wi

(d)
() —3

6. The derivative of y = (¢* +2)/" at z =11s

(a) 3(1—1n3)
(b) 3—1In3
() 1—3In3
(d) 3(1—3In3)

(e) 3(3—1n3)
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7. If f(z) = z€®, then FO-1) =

(a)

(b)
() 0
(d) —-
(e) 1

2
8.  The absolute minimum value of f (z) = §lnx + 2723 on

the interval [e~3, €% is

(a) 1

(b) e*—2
(c) e +2
d) 1-¢°

(e) 2— 3¢
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9. If z € (—2,2), then the function f(z) = zv4 — 22

10.

(a) is concave down on (0,2) and has inflection point at x=0
(b) is concave up on (0,2) and has inflection point at x=0
(C) is concave down on (-2,0) and has inflection point at x=1
(d) has two inflection points at x=0,1

(e) is concave down on ( 2,0) and has inflection point at x=1

) 1—z
The function f(z) = ——— has
2 +x —2
(a) one horizontal asymptote y = 0 and one vertical asymptote £ = —2

(b) two horizontal asymptotes y = —1,0
(C) two vertical asymptotes z = 1,—2
(d) one oblique asymptote y =z + 2

(e) one horizontal asymptote y = 1 and one vertical asymptote z =1
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11.

12.

Suppose that the cost-function is given by ¢ = .01¢? + 5¢g + 100.

Page 6 of 13

The average price € is minimum for ¢ =

(a)
(b)
(c)
(d)
(e)

For the function f(z) = £ — z, = changes from 1 to 1.01.
Using differentials, approximate value of f£(1.01) is

(a)
(b)
(©)
(d)
(e)

100

105

101

110

0.02

3.01

0.03

3.02

0.01
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6el/z
13. / - do =

(a) —6€/"+C

(b) —6e” +C
() =+C
el/z
d C
@ S+
em
(e) _—jf +C
14. If % — 14+ tan®z + sin 3z and y(0) = 0, then y(7) is
2
(a) 3
1
b) —3
1
(c) 3
@ 247
© -3
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15. The trace of surface z2 + 4y* — 2> = 1 in zz-plane is

(a) hyperbola
(b) circle
(c) ellipse
(d) parabola

(e) plane

2

T
16. If f(z,y,2) = y+ 22 then 020y0z?

Vo
()
N’
|

(b)
(c) O

(d) 4

(e) 2
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17.  The equation of tangent line to the graphof y = sec? (E — :v)

2
atxz—-gis
(a) y=1
(b) y=2
(c) y=z+1
d) y=1-2
2
(e) y=—?;x

18. The function f(z,y) = 23 — 3zy + y° has

(a) a relative minimum value —1 and a saddle point
(b) a relative minimum value 1 and a saddle point
(c) a relative maximum value 2

(d) a relative minimum value —4

(e) a relative maximum value 3 and a saddle point
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19. /:zzlnzdzz

@) 2
(b) 3€®

(c) 1+¢€

@) &

(e) 2

20. The exact area of the region bounded by the graphs of
r=y*—4andy=T—218

@) 2

(b) 124
(¢) 52

(d) 73

(e) 6
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91. The area bounded by curve y =4+ 3z — z? and z-axis is

(a) 6

(b) —-

22. f02 |z — 2%|dz =

(@) 1
)
© -2
(@ 3

() -1
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23. /01 [(VZ + 1) — (z+ 1)%dz =

(a)
(b)

(c)

[I=N ~J| o wl o N

(d)
()

[\

/2 2 _ 1/m .
24, 1t [ cos?(ka)dz = 5 (5 + 1), then k =

(&) —3

(b) 2
© ~3

@ 3

(e) —2
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95. A company makes two types of computers. The cost of
producing z units of type A and y units of type B is given

by the function C(z,y) = =y + - + % The minimum cost
is

(a) 6

(b) 4

() 3.5

(d) 5

(e) 1.5
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